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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Answer any Five questions.

3. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. (1) Explain with help of an economic model how existence of bureaucracy can

lead to excessive public sector expenditure? (5)

(i) How does the theory of clubs help in resolving the question of ideal
membership and supply of good that should be provided by the club. (10)
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Distinguish between pure public goods, private goods and mixed goods. (6)

In what way can one achieve Pareto optimality when an economy provides

private the public goods? Show using appropriate diagrams. 9)
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3. Write short note on the following: (7.5+7.5)

(i) Tiebout Hypothesis

(i) Impact of fiscal deficits on savings, investment and growth in India.
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“In a competitive economy with complete information and zero transaction
costs, the allocation of resources will be efficient and invariant with respect

to legal rules of entitlement”. Critically examine the above statement.  (7)

Two firms are located on the same river and produce the same commodity.
However, pollution released in river by the upstream firm causes negative
externality for downstream firm. Their outputs are a direct function of use of
labour and total supply of labour is used by the two firms taken together.
Graphically show the effect of a small reduction in labour input by the

upstream firm on downstream firms production function. Assume competitive
markets to begin with. (8)
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Discuss the various factors that determine the extent and direction to which
product taxes are shifted. )

There is a large number of commuters who decide to use either their car or
the metro. Commuting by metro takes 70 minutes, irrespective of the number

of commuters taking the train.

Commuting by car takes C(x) = 20 + 60x minutes, where x is the proportion
of commuters taking their cars, 0 < x < 1. (3+3+3)

Plot the curve of the commuting time by car and the commuting time by train

as a function of the proportion of car users.

What is the proportion of commuters who will take their car if everyone is
taking her decision freely and independently so as to minimize her own

commuting time?

What is the proportion of car users that minimizes the total commuting time?

Compare this with your answer in part (b)
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6. (1)) “The inverse elasticity rule describes an efficient way to tax commodities but
not an equitable way.” Explain. (%)

(i) Diagrammatically explain the different various of equal sacrifice principle of
taxation. Does the principle of equal sacrifice necessarily imply progressive
taxation? (10)
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7. Using approach of Sacchisanand Mukherjee, explain the proposed GST regime

in India? Discuss the challenges that need to be addressed in implementation of
GST. (15)
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